88 5531 771

® T\
homestyles , _ T
Closet Wall Hanging Unit
IMPORTANT L/\\
Carefully remove all the parts from the carton and T 7
place them individually on a soft cloth to prevent T
scratches or other damage.
Carefully and strictly follow these assembly instructions
to ensure a completed product as designed. L—1
Do not use power tools above 8 volts to assemble. \
-
Part List
B.
Front Rail
A 1 pc.
Top
1 pc.
. /
. =
L
o
L
¢
r
L- C. L D. . F
Side Panel Side Panel Back Panel Back Panel
1 pc. 1 pc. 1 pc. 1 pc.
\_

(For assembly see instructions in carton 88 5531 772.

Home Styles Customer Service: www.homestyles-furniture.com,
servicedesk@homestyles-furniture.com, 888-680-7460, 877-831-0319



homestyles

IMPORTANT

88 5531772
Closet Wall Hanging Unit

Carefully remove all the parts from the carton and
place them individually on a soft cloth to prevent
scratches or other damage.

Carefully and strictly follow these assembly instructions
to ensure a completed product as designed.

Do not use power tools above 8 volts to assemble.

1

/

/

/

]

e
Part List
H.
G l‘l:ront Fel
Top pe.
1 pc. /
4/ B \
. ° L} ° a o Y O-
, Yoo Bottom
BiSgle L. M. N. 1 pe.
Side Panel Side Panel Back Panel Back Panel
) 1 pc. 1 pc. .
L 1 pc P P 1 pc )
4 )
Hardware List s ~
S ©
M3x15 M3.5x16 _—
Wood Screw for Wood Screw for ©
Plug Connector Rod Support
4 pcs. (+1 ~xtra) 8 pcs. (+1 extra) 8 pcs. (+1 extra)
) M3x19 o
V/4 Wood Screw for M3x25 —~
Leveler Hex Wrench % Leveler Wood Screw (long) Rod Support Connector
4 pcs. 1 pe. 16 pcs. (+1 extra) 7 pcs. (+1 extra) 4 pcs. 2 pcs.

(Carton 88 5531 771 is also needed for assembly.

Tool(s) required for assembly: Phillips screwdriver, Level, Drill (8 volts or less), 3/8" Drill Bit

Home Styles Customer Service: www.homestyles-furniture.com,
servicedesk@homestyles-furniture.com, 888-680-7460, 877-831-0319



( Assembly Instructions 7/8 )
IMPORTANT

« To help reduce the risk of the unit tipping over, the Tipover Restraint must be installed following these instructions exactly.

STEP 10

. . . ) Anchor in wall Bracket Wall Screw Pre-drilled hole
Drill a 3/8” hole in wall in-line with on wall at top of unit
the pre-drilled hole at top of unit. 3/8" wall hole ‘ Wood Screw
Move unit.

Insert Anchor into the wall hole
and attach Bracket with Wall Screw.

Tie end
Attach Bracket at pre-drilled hole Lock end
at top of unit with Wood Screw. Bracket at

top of unit

Move unit back into place.

If assembling multiple Closet Wall Units Tipover
together, go to and complete Step 11 now,  Restraint
then return to and complete Step 10.

Slide Tipover Restraint through
Bracket on wall and Bracket on unit. .
(See Figure 7) Figure 7

Put tie end of Tipover Restraint into lock
end of Tipover Restraint and pull until tight.

Drill 3/8"” hole in wall

Top of unit

Pre-drilled hole
at top of unit

[ Hardware List

V7> &)
@ M3.5x40 M3.5x16
Anchor Bracket Tipover Restraint Wall Screw Wood Screw

1 pc. (+1 extra) 2 pcs. (+1 extra) 1 pc. (+1 extra) 1 pc. (+1 extra) 1 pc. (+1 extra)






